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=27x° + 108X’y + 144x)" + 64 y°

2m R ’ 2m ’ 2m g n 2m n : n ’

o It B i 328 R e 2 2 i
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3 3
8m” 6m 3n n

n n  2m 8m’
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S 2
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u/}d/ag!:?
51 (1) v a-2 (2) m?+ 2m - 24 (3) p*+ 5p - 24
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5
Mymr-=>m-12 (6) X - — (9) L2 36
3 9 X yoy
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(6) X +3x+ > + & (7) g 4 12m°  Om 1
x X 25 125
3
125x°  15x  3Y 4
2% 4+ + :
(8) [ER sx T osa
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(5) 77,62,392 (6) 8p° - 6p + >
2p 8p
3031 ;
(7) 1= —+—5——% (8) X 2%
a a a 27 X x
2. (1)24b + 2b° (2) 547 + 72 1k
(3) -2884" - 54 (4) 250x%° + 1470 x)”

er$ 54 1. (1) 4p* + ¢* + 25 + 4pg +10g + 20p
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(3) 9x* + 16y” + 25p™+ 24 xy-40py-30px
(4) 49m° + 9n® + 16k - 42mn + 24nk - S6km
2. (1) 20 + 82 + 18 - 24y (2) 32rm - 48kr
(3) 984 + 720" + 50¢* - 120bc
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(& (1) 4xy + 8xy* = 4xy(1 + 2y)
(2) p*=9q°=(p)* - (3q)"=(p + 39)(p - 3q9)

AT

a . . N
\( : (Factors of Quadratic Trinomial) d Va2V 4 lé:u'g./df/ )

_ujtédg/df/fculfd}'d/c«fj ax2+bx+c
x+ta)(x+b)y=x2+(a+b)x+ab fu}"&_bﬂ

~U8 A7 (x+b) sl (x+a) £ X2+ (a+b)x+ab U
a+b=5 g S 2+ (a+b)x+ab G ¥ NL LI 2L 2k 5k 46 G
S 2+ (a+ by x +ab SGntT 5 GEIIL G B Az 1l 6 e tT ab=6 i
Ly ez S
X+5x+6=x*+(3+2)x+3x2 [ x*+(a+ b)x + ab]
(L /el Pzl o el gkt 4 i Jord J_fe x 7 (342)]
=x"+3x+ 2x+2x%x3
=x(x+3)+2(x+3) =(x+3)x+2)
(EIAUIS S5 L8 L0 T e il § Gl dn)
Sl 22— 9x+9 1 1 i
e 2x9=18 ALK L G I ARSI AL S S
ST 29 F Ll o PL S BEII L G S Azl 18
i)f-gﬂ?? 182 (=6) X (=3) 5 (=6) + (=3) = -9
_ 2); (x —x3) —xzzLxg— 3) Lo ex-sn S —ox
= (x = 3)(2x - 3) | LA (-3
L2 -9 +9=(x-3)(2x-3)




SO - 10 +21:3 U0 E e el ot 4 5x 1812 JE
-36

R +21 Jg ,
Jix? - 10x + 21 AN F2X" 4+ 5x - 18 AN

-7 -3 +9 -4
=x*'-Tx-3x+21 = 2x*+ 9x -4x- 18
=x(x-7)-3(x-17) = x(2x+9) -2(2x + 9)
=(x-7)(x-3) = 2x+9)(x-2)

3l 2yt -4y =304

S 2r -4y -30

=2()* - 2y - 15) (S8 A2 2 = i)
=2(y" -5y +3y-15) A
=2yy-5H+3p-51 > P
=2(y -5)(y+3)
I anE
WEALY D (RN

(1) x>+ 9x + 18 (2) x* - 10x +9 (3) V' + 24y + 144

(4) 5y + 5y - 10 (5)p*-2p - 35 (6)p>-Tp - 44

(7) m* - 23m + 120 (8) m* - 25m + 100 (9) 3x* + 14x + 15

(10) 2x* + x - 45 (11) 20x* - 26x + 8 (12) 44x* -x -3

uffzé.;’

7 5 N\
\L(: (Factors of a3 + b3) Q/Z.i‘i!cﬁ a3+ b3//\]\

(a+b)y =a®+3a2b +3ab> + b3 SULE
_BE L S5 SE SIS 3ab e S s
(a+ b)Y =+ b +3ab(a+b)
@+ b +3ab(a+b)=(a+b) AL ST IISAES
L ad@+bP=(a+ b)) -3abla+ b)=[(a+ b)a+ b)*]-3ab(a+b)

=(a+b)[(a+ b)-3ab]=(a+b) (& +2ab + b* - 3ab)
=(a+b)(a-ab+b?)
sa+b*=(a+Db)(a*-ab+ b




LGS ISR LSS i i L s e 21 E E U
Je )y X +27y =X+ (3y)
= (x + 3y) [x* - x(3y) + (3y)*]
= (x + 3p) [X* - 3xy +9)]
Je@)  8pP+125¢° = (2p)’ + (5q)° = (2p + 5q) [(2p)* - 2p % 5q + (5¢)°]
= (2p + 5q) (4p” - 10pg + 259°)

m'}-i-; = .3 { 1 I = (m—i— ! ) 1 1Y
v R e T | m—mx— | —
Je- ) 64m 4m 4m dm (4171)

(o) trab
= ’”+E 4 16m?

JB (@) 250p° + 432¢° = 2(125p° + 216¢°)
=2[(5p)* + (69)°] = 2(5p + 6q) (25p* - 30pq + 364°)

< 6.2 2r }
_Edsz
(1) x> + 64y° (2) 125p° + ¢° (3) 125K + 27m® (4) 2P +432m°
1 .8 3
5)24a + 810°  (6) y* +— 7) @' +— 8) 1+
(5) ()y+8y3 ()a+03 ()+125
JF T

( : (Factors of a3 — b3) § #2121Z a3—b3>,
(a-b)Y=a*-3a*h+3ab*-b = -b*-3ab(a-b)
-, @-b-3ab(a-b)=(a-b)
ad-b=(a-b)Y+3ab(a->b)
=[(a-b)a-b)' +3ab (a-b)]
=(a-b)[(a-b) +3ab]
=(a-b)(a*-2ab + b* + 3ab)
=(a->b)(a*+ ab + b?
a@-b>=(a-b)a’+ ab + b?)




Lyl /"sz:u?/w{;i/dwKéf_wiéﬁ’u’ié@ﬁu{uz@
Jem X -8y=x" - (2)]
SX -8y =X - ()’
= (X -2y) (X* 4+ 2xy + 4H7)
J @) 27p° - 125¢° = (3p)* - (5q)° = (3p - 5q) (9p* + 15pq +25¢7)
J@3)  54pP - 2504 = 2[27p° - 125¢°] = 2[(3p)* - (5¢)°]
=2(3p - 5¢)(9p* + 15pq +25¢°)

b ool (e
(a-b)' - (a-b) -~ &)
(a-b)-(a-b)=a-3ab+3ab*-b-a +b =-3ab+3ab* : S
(2x + 3p) - (2x - 3 -Z7 ) Je
2x-3y=bsl%+3y=a S S
a-b=(a-b)(ad+ab+b?
So(2x + 3y) - (2x - 3y)°
=[(2x+3y) - (2x-3)1[(2x+ 3y)*+ (2x + 3p) (2x - 3y) + (2x - 3y) ?]
=[2x 4 3y - 2x + 3p] [4xX°+12xp+ 9y* + 4x°-9y"+ 4x* - 12xp+ 9)°]
=6y (12x* + 9y*) = 72x*y + 54y’

ISVXP

@ +b=(a+b)(d-ab+b>) G)d@-b=(a-b)(d+ab+ b

I ol >

SEALY D (RN
(1)y* =27  (2)x*-64)° (3) 27m* - 216m°  (4) 125)° - 1
(5) gp3_2_z (6) 343@° - 512b°  (7) 64x* - 729 (8) 16a3—]bi38
p
(1) (x+y) - (x-yp)? (2) (3a+ 5b)° - (3a - 5b)° ‘g{/ﬁ 2
3)(a+b)-a-b LHp'-(p+1)y

(5) (3xy - 2ab)* - (Bxy + 2ab)’
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‘\( : (Rational Algebraic Expressions) aur’d/ui/l/d /,-%l Loy /lub 5 )
: R — A :
GLbl Tt el A eSO A & edSuie S 2 g Funien B A
_u;an}JJLﬂLw’_n{mlJ"tdmojmﬁ e J P
b AW Gl LS A

7x*+18x+8 14x—8 . a +5a+6 a—4
, X 2) Je &A1) Je
49x%2-16 x+2 ()J a‘t—-a-12 az— /j ()J
7x +18x+8 14x-8 at+5a+6 a—4
X : .
49x% —16 x+2 J" ’ JV

2 X 2
a —-a-12 a -4

(7x+4)(x+2) 2(7x-4) (a+3)(a+2) (a-4)

= X -
(Tx+4)(7x-4) (x+2) = (0_4)(0+3)X(a+2)(0_2)
=2 ) 1
T a2
x2—9y
o &) Je
x?—9y? _ (x+3y)(x—3y)
x' =27y (x—3y)(x2+3xy+9y2) S
_ x+3y
x?+3xp+9y°
< 6.4 o >
4
(1) 1112—}’122X7112+317’H’l4:l12 (2) a3+10a+21xaz—1 (3) 8x’ —27y
(m+n) m —n’ at+6a-7 a+3 4x° —9)7
xP—5x-24 x*-64 3x*-x-2 _ 3x*-7x-6 4x* =11x+6
( )(x+3)(x+8)x(x—8)2 S T E B T3 B
a’-27 a'+3a+9 1-2x+x% l+x+x°

(7) 5a°-16a+3 = 2547 -1 (8) 1-x* . l+x
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aua

6.1 &{5}‘
(1) (x+6) (x+3) (2)(x-9)(x-1) 3)(y+12) (v+12)
4)s(y+2)(y-1) 5)(p-7)(p+5) (6) (p+4)(p-11)
(7) (m -15) (m - 8) (8) (m-20) (m-75) 9) (x+3)(3x+5)
(10) (x+5)(2x-9) (11)2(5x-4) (2x-1) (12) (11x-3) (4x + 1)
6.2 &{5/”
(1) (x +4y) (- 4xy + 16)") (2) (sp + q) (25p* - Spq + g°)

(3) (5k + 3m) (25k* - 15km + om?) (4) 2( + 6m) (I* - 6lm + 36m*)

(5) 3(2a+ 3b) (40 - 6ab + 96" (6) (HLj[yz_g 12]
2y 2 4y

2\ 4 q q q
(7) [(ng(a —2+a—2j (8) (1+g][1—g+2—5]

6.3 &{5}‘

(HY-3)0"+3y+9) (2) (x - 4y) (X* + 4xy + 16)7)

(3) 3m - 6m) (9m* + 18mn + 36n?)  (4) (Sy-1) (25 + Sy + 1)

(5) [2p—%j[4p2+6 + %J (6) (7a - 8b) (49a° + 56ab + 64b%)

(7) (4x - 9y) (16x% + 36xy + 81)%)  (8) 16("_3(02 +270+%)

(1) 6x%y + 2)° (2) 270a°b + 250b° (3) 3a°b + 3ab?
(4) -3p*-3p-1 (5) -108x%*ab -16a’h’
6.4 2r

1
m+n Da+l (3) 2x+3y
(4) 1 (5) (x—D(x=2)(x+2)
(x=3)"(x-4)

X2 (7)sa+ 1 (8) 1=%
4x+3 1+x

2 2
(1) 4x +6xy+9y

(6)
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Sz o FE sl y x| Gt EFET Y sl x eSS BTy il x

_ugﬂf x oy ZSJe et

[LLJ/GfUUbLlfoUL&Uﬁ(}’”L/f (EDRA

e SFT ko e x =k e Sebloa x oy

-Lawd“‘”:"{/ﬁ’y k-l %: ky x=ky

et e P AL S e St i
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“SHES Aot 2 S dd LA = Fid A = S
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. 1 T, ot
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x=lyl oy (clnl) ot EEET il x

LUk euldut (ainls) o —abny=5 x=450 o2
. 450 = 5k, Sok=90 (S

Ly x Iy =100 o

x=ky,
L ebledd x =90y
X = 90 x 100 = 9000
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x %y GUn i By sl x ~gre gt B Y sl x ST S E U il x

e bl TSI AL AP b et 5

. 1 . -
-QZL//;U:; x o . ;'& :ujuﬁ/;’)u’:é‘y »l x
o . " ' k. 1
_‘L}ﬁgj‘w/{/f’ k-ujufbb‘u(/f’._,/d xxy=kl x= ; ﬁ x o N

% uf-Jl"r“u/J’ %

_EF e bstrin B AL bea S (1) J

@ 6 12 15 [ ]
b 20 ] [ ] 4
2 X b 120 120 [ ] [ ]
1
ax b=k u’f ao —
a=6-* =20, . k=6 x20=120

b

Q) : S
(e



a=?2b=4 (iv) | b=2=ra=15 ()i b=?=a=12 (i)

ax b =120 axb=120 axb=120
Lax4=120 S15xb=120 0 s 12xb=120
a=30 S b=8 oo b=10

leS,Jd:S:focC%:(Z)Jl}"*

_Eeeid dde =50 (i) _FEee i fd=10 ()7
foc% ,oo o fxdi=k

Lyl ki =18 & d =5

S 18x S =k, S k=18x25=450 ()

d=7 9 f=50 (ii) f=2d=10 (i)
fxd*=450 : X d*=450
50 x d” = 450 % 107 = 450
d*=9 S X100 = 450
L~ d=3 | d=-3 =45
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1 1
x“ﬁ@) (=5F s=42SA 5 (3)

y=9 & x=15=2
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I(AB)=5 ¢ d(BC)=55¢ d(AC)=6¢ U AABC (1)
m/D =35 m/F=100° /(DF)=4.8 ¢ < ADEF (2)
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0-3x>+ 4%+ 2x - 6 () x*x [ 5x* ] = sx*
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(7) (2y°+ 4y* + 3) +2y° (8) (21x*- 14x* + 7x)+ 7x°
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9X -4 =06x+29
(LSG A A S
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(LIGF 6 it
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M3t S
2 +5a=4
3

2
IX —+3X5a=4X%X3

3
2+ 150 = 12
150 =12 -2
15a =10
a:&
15
ag=2
T3
A C
Bop A

LG IS REL I 1 e fo il



&m—1 (x=T7)
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.
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